Disproportionation Reactions

¢ Inlmost redox reactions, atoms of one eleme;nt are oxidized and atoms of a

di
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tferent element are reduced
s possible for some atoms of one element to undergo oxidation and other

atoms of the same element to undergo reduction in a single reaction

o This type of redox reaction is called disporportionation

e Consider the following copper atoms and ions in the following equation

PERRVEN e w?f-‘fg:éf}f] - —
o 2 +h4 -2 0 .o s g
CUzo(aq) + HZSO4(aq) ——— CU(S) + CUSO4(aq) + H20(|)
| - o
Fa duu’oc
A Qe e el R G5 & ”")
CLM %) 'y QQ.‘,&C_;, rﬁJWWJ & C&A sl =9 Cu >
o Disproportionation reactions are balanced in the same way as any other redox

reaction (ie. either using half-reactions or oxidation numbers)
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1.) Balance the following unbalanced equation for the Qiﬁgvp\r/ofp&@j_ggg_t_i_o_p_v, in acidic
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solution, or nitrous acid, HNOz(agq), forming nitric acid, HNO3(sq), nitrogen

monoxide, and water: redi ced
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HNOjag —> HNOs@g + NOg + H20q
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2.) Hy
io

pochlorite ions (ClO") disproportionate to produce chlorine ions and chlorate

1s. Write a balanced redox reaction for this disproportionation reaction.
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»*Now try pg. 452 #3-6, pg. 454 #3, & pg. 461 #11***
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